[IBA-AAC.VCEplus.premium.exam.85q

Number: IBA-AAC

Passing Score: 800
Time Limit: 120 min
File Version: 1.0

Website: https://vceplus.com

VCE to PDF Converter: https://vceplus.com/vce-to-pdf/
Facebook: https://www.facebook.com/VCE.For.All.VN/
Twitter : https://twitter.com/VCE Plus

IIBA-AAC
IIBA Agile Analysis Certification

Version 1.0

www.vceplus.com - Free Questions & Answers - Online Courses - Convert VCE to PDF - VCEplus.com


https://vceplus.com/
https://vceplus.com/vce-to-pdf/
https://www.facebook.com/VCE.For.All.VN/
https://twitter.com/VCE_Plus

Exam A

QUESTION 1
After some debate the delivery team decides to use the product roadmap because it will help them:

Align strategy to goals

Maintain defined scope

Keep the team on schedule

Align increments with product vision

oCow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.modernanalyst.com/Resources/Articles/tabid/115/ID/3129/10-Tips-for-Creating-an-Agile-Product-Roadmap.aspx

QUESTION 2
A team has been delivering a steady stream of small value increments towards a goal for 4 months, and has completed several solution components, with several still potentially doable. The solution owner examines the reactions to the
delivered components from customers, and decides which one(s) the team will do next. The solution owner is demonstrating:

Adaptation to revised strategy

Change in response to feedback and learning
Action in response to activity

Maintenance of solution alignment

o0 wp

Correct Answer: B
Section: (hone)
Explanation

Explanation/Reference:

QUESTION 3
The team decides a story is too big to do in one iteration. The correct technique to apply at this point is:

MoSCoW approach
Story decomposition
Epic analysis

Story partitioning

OO0 W

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.excella.com/insights/make-your-aqgile-user-stories-manageable-through-story-decomposition

QUESTION 4
A team discovers that their accomplished deliverables are not impacting the goal strongly. They have several more iterations of similar work scheduled and are ready to execute, and they expect delivering this work will produce similar poor
impacts. They choose to shift their delivery work to a different initiative while they assess the poorly performing work for other ways that would produce good results. This shows that the team values which of the following things highest?

Documenting solution outcomes
Developing new processes
Improving collaboration
Responding to change

Ccow>»
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Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 5
While discussing team norms, the team determines that within the Delivery Horizon, communication will be:

Clear or reviewed
Appropriate and planned
Casual and as needed
Consistent or scheduled

ocow»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 6 While working at the strategy level, the team needs to ensure stakeholders actively support an environment for constructive communication, collaboration, and continuous improvement. They decide to use the following to
achieve this goal?

Product Roadmap

Reviews

Behavior driven development
Release Plans

oowp

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://vancouver.iiba.org/sites/vancouver/files/archive/Media/Downloads/CBAP-CCBA%20Study%20Group%202017/Session%208-Chapter%2011 Perspectives.pdf

QUESTION 7
The team is very busy working on a top priority initiative. They have delivered many user stories and have many left to complete. However the components they are delivering are not yet delivering end-to-end business value. How can the
team maintain understanding of the big picture without getting lost in the details?

Create a gantt chart
Refine their backlog
Create a story map
Fully elaborate user stories

oo Wy

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: http://www.agilebuddha.com/agile/story-mapping-andvs-process-maps/

QUESTION 8
When decomposing stories, the concept of “breadth before depth” signifies progressively breaking down:

A. Estimates and resources required to accomplish the story
B. Backlog items to the lowest level of detail upfront
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C. Business goals into user stories representing smaller increments of value
D. Tests to align with usable functionality delivered through each story

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AqgileExtension_V2-Member-Copy.pdf (103)

QUESTION 9
The delivery team is in a meeting identifying cycle time improvement opportunities for delivery of the final product. They decide to apply the following technique:

Backlog management
Value stream mapping
Story decomposition
Story mapping

OO w>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:
Value stream mapping complete, fact-based, time-series representation of the stream of activities required to deliver a product or service.

QUESTION 10
The team members are discussing the level of effort that different backlog items are likely to require, and how much effort is available for the next sprint. This is an example of the principle:

Analyze to determine what is valuable
Understand what is doable

Respect for individuals

Get real using examples

oowp»

Correct Answer: A
Section: (hone)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (20)

QUESTION 11
Making decisions based on a realistic understanding of current organizational strengths, capabilities, and challenges, is represented in the agile analysis principle of:

See the whole

Individuals and interactions over process and tools
Think as a customer

Understand what is doable

Cow>

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (36)

QUESTION 12
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During a team meeting, the team discuss a technique where real or perceived benefits to the customer, direct costs and opportunity costs are assessed. Which technique are they discussing?
A. Minimum Viable Product

B. Impact Mapping

C. Kano Analysis

D. Value Modeling

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

Explanation:

Value Modelling models value creation for stakeholders who use the solution. Value Modelling is also referred to as Customer Value Model. Value Modelling follows a basic structure: Customer value = Benefits — Cost Benefits can be real
(solves a problem or completes a job) or perceived (increases status, reputation, likability).

QUESTION 13
At the Initiative Horizon, the solution owner using iterative planning principles decides to plan for a period of:

6-12 months because competitive analysis requires thorough analysis
1-3 months because it can be determined if needs are being met

3-6 months because stability is required for long term planning

1-2 weeks because it aligns with the increments delivered by the team

Oo0Ow2>

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (46)

QUESTION 14 Planning horizons are important because they allow an
organization to:

Support a structured response supported by all levels of the organization
Sense and respond to their changing environment

Ensure senior management is informed and engaged

Allow management guidance for decision making

OOy

Correct Answer: B
Section: (hone)
Explanation

Explanation/Reference:

Explanation:

In constant and rapidly changing environments, organizations are required to be able to sense and respond to local opportunities and problems without the need to involve the whole organization, while also looking forward at emerging threats
and opportunities. These planning horizons provide a framework for the shift in focus that occurs when moving between understanding the long-term strategic needs of the organization and the immediate needs of a customer.

QUESTION 15
The team is creating plans at the Strategy Horizon. Diverse opinions are delaying this effort because different people are focused on different timeframes. After some discussion the team realizes they need to focus their efforts on the following
viewpoint:

A. Business view of the teams working on the initiatives
B. Micro-view of the potential changes to the organizationC. Broader view of the impact of the change to the organization
D. Local view of the effect on the community.

Correct Answer: C
Section: (none)
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Explanation
Explanation/Reference:

QUESTION 16 The team is expanding and refining customer scenarios as the solution components are being developed. This is an application of the following agile business
analysis principle:

A. Understand what is doable

B. Avoid waste

C. Stimulate collaboration and continuous improvement
D. Get Real Using Examples

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (21)

QUESTION 17 In situations where learning is frequent and fast-paced, and the product owner is reacting to the new information, the prioritization of solution components should
be expected to:

Be unaffected
Remain stable
Alter intermittently
Change frequently

o0

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 18
While quality checking the written user stories, the team ensures one of the components included in the attributes of a user story is:

A. The explanation of the story’s cost
B. The stakeholder responsible for testing
C. The benefit or business value received by the user when the story is implementedD. The title describing the goal of the delivery cycle

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.yodiz.com/blog/user-story-characteristics-in-agile-scrum-methodology/

QUESTION 19
Members of the team facilitate key stakeholders through an exercise to develop a mutual understanding of what is in and out of scope for the initiative and specify the organization value to achieve in the initiative. What technique did they use?

Sprint Goals

Visioning

Purpose Alignment Model
. Story elaboration
Correct Answer: A

o0
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Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.visual-paradigm.com/scrum/write-sprint-goal/

QUESTION 20
A product owner has selected a particular workflow, and needs to identify potential epics and initiatives to learn more about it. They gather a group together to visually identify activities and themes of possible interest. What technique is typical
for this purpose?

A. Value stream mapping
B. Cartesian mapping

C. Story Mapping

D. Data flow mapping

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://blog.easyagile.com/anatomy-of-an-agile-user-story-map-4ecb6a508d94

QUESTION 21
The delivery team is reviewing information that starts with a broad view of the solution components and drills down to a level of granularity, including acceptance criteria, that supports solution build activities. The team is using the following
technique:

A. Story elaboration

B. Real options

C. Detailed story

D. Backlog management

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2016/01/Agile_Extension_to the BABOK_Guide_Aqile_Alliance_Member.pdf (23)

QUESTION 22
At the initiative level, the team concludes pre-defined *measures of success, *desired outcomes being reached, and *alignment with organizational strategy can all be used to:

Access the viability of solution components built by the team

Enlist new team members to help develop additional solution components
Determine the likely response to the solution components

Identify possible adoption of a solution by your customers

oo Wy

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (44)

QUESTION 23 At the initiative level, solution recommendations
incorporate the following:

A. *Iteration plan for the start of delivery
*Projected impact to future delivery capability
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*Priority of the identified need
B. *Ranked goal review
*Impacts on other initiatives
*Time & materials analysis
C. *Requirements management plan
*MosCoW feature quadrants
*Analysis of similar plans from the past
D. *Validation check on any assumption already made
*Projected impact on identified need
*Estimated costs, including time and money, and others if relevant

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 24
The team is discussing one of the six key terms used to discuss both business analysis and its relationship with common terminology. Specifically, they are describing improvements as being deliberate and achieved though business analysis.
This team is discussing the:

A. Solution
B. Need
C. ContextD. Change

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:
Change is the act of transformation in response to a need. Change works to improve the performance of an enterprise. These improvements are deliberate and controlled through business analysis activities.

QUESTION 25

A team demonstrating the following characteristics:

= Expects rapid change

= Incorporates learning & feedback

= Has a preference for shorter time frames = Treats

plans as testable hypothesis is following planning

practices that are described as:

A. Predictive and adaptive
B. Adaptive and hypothesis
C. lterative and predictive
D. Iterative and adaptive

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (28)

QUESTION 26
The team demonstrates they value customer collaboration over contract negotiation by:

A. Constantly refining their understanding of the need based on stakeholder feedback
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B. Learning what works by trying things out
C. Making people the center of the work
D. Updating the backlog based on the solution created

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: http://thinkrelevance.com/how-we-work/aqgile principles#/agile-customer_collaboration

QUESTION 27
A team has been delivering a steady stream of small value increments and has completed several solution components, with some still remaining. The solution owner examines the reactions to the delivered components from customers, and
decides that the need has been met and the remaining potential components won’t deliver enough additional value to justify doing them. The solution owner will:

A. Request Strategy Horizon input about what action to take

B. Accept the work is complete and cancel remaining work

C. Fully document the working initiative

D. Ask the team to come up with new, more valuable, solution components for the initiative

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 28 The team establishes ground rules for considering business analysis performance improvements. They agree that speed and accuracy of executing analysis activities becomes very important at the
following horizon:

Feedback horizon
Strategy horizon
Initiative horizon
Delivery Horizon

OO0 Wy

Correct Answer: D
Section: (hone)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AqgileExtension_V2-Member-Copy.pdf (133)

QUESTION 29 Two key components of assessing solution options at the Initiative
Horizon include:

A. Shared understanding of the need and a very broad description of solution options
B. Shared understanding of the need and a description of the selected solution
C. Shared understanding of the need and a detailed description of all potential solutionsD. Shared understanding of the need and top three solution options

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AqgileExtension V2-Member-Copy.pdf

QUESTION 30
While discussing the Business Analysis Approach, decisions are made about which methodology or approach to use for the initiative being considered. These discussions are happening at the:
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Feedback horizon
Initiative horizon
Strategy horizon
Delivery horizon

Cow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (133)

QUESTION 31
The delivery team wants to ensure stakeholders contribute value on an ongoing basis to delivering the solution. This is an example of the following agile analysis principle:

Retrospective input and observations

Avoiding waste and unused functionality

Stimulate collaboration and continuous improvement
Value of assessing problems in a timely manner

OO w>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (21)

QUESTION 32
After a lengthy discussion the team agrees that the agile business analysis principle of “get real using examples” aligns with the BACCM core concept of:

Need

Value
Stakeholder
Solution

oowp»

Correct Answer: A
Section: (hone)
Explanation

Explanation/Reference:
Reference https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (22)

QUESTION 33

The delivery team is:

= prioritizing the backlog

= focusing on stories that deliver maximum value first =
maximizing the work not done.

These demonstrate application of the following agile business analysis principle:

Customer collaboration over contract negotiation
Stimulate collaboration and continuous improvement
Think as a customer

. Avoid waste

Correct Answer: B

Section: (none)
Explanation

o0
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Explanation/Reference:
Reference: https://www.aqilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (21)

QUESTION 34
In the past, a team has been unable to deliver solutions in a timely manner and they feel this is due to the customer being unable to decide what they want. The team has decided to ask the customer to “sign-off” on their requirements. This
violates the following value statement:

Individuals and interactions over process and tools
Prioritizing outputs over outcomes

Working solutions over comprehensive documentation
Customer collaboration over contract negotiation

OO0 w2>

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 35 At the strategy level, a major component of waste can be avoided by ensuring
the enterprise:

Only begins an initiative when a budget is approved for all work

Has a shared understanding of organizational goals and priorities
Has changes to existing work approved by senior management

Has comprehensive business cases approved by senior management

o0 p

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 36

The team stops regularly to:

= inspect the quality of its outcomes = adapt its processes to
more effectively produce outcomes.

This clearly demonstrates the team is working in an:

A. Retrospective context
B. Agile context

C. Waterfall context

D. Incremental context

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 37
The team discusses the agile principle of avoiding waste and decide it's important because it allows the team to:

A. Verify that the budget is aligned with spending
B. Focus on items that contribute to satisfying the need
C. Ensure clear and effective communication
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D. Demonstrate ongoing quality backlog refinement

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (21)

QUESTION 38 Which of the following is true about the
Strategy Horizon?

A. The agile mindset is the same, but we operate under a specific set of Strategic Principles
B. The principles and agile mindset are the same as those at other horizons

C. The principles are identical, but we use only a prescribed set of techniques

D. The principles are identical to the other horizons, but the agile mindset is different

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (26)

QUESTION 39 For a user story to be considered ready for the next
iteration, it must have:

A. Just enough detail for the team to successfully complete the story
B. Rigorous justification and defined meaning

C. Management approval and go-ahead

D. Quality checks and detailed documentation

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 40 In a planning workshop the team breaks down the product backlog increment and can assign work to members of the team. This
is referred to as:

Release planning
Task planning
Resource planning
User story writing

cow>

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (83)

QUESTION 41
The sponsor is reviewing data from a new product launch and is evaluating threats and opportunities. What are the three options when evaluating the next steps?

A. Run a planning workshop, sequence future planning workshops, create business model canvas for all initiatives
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B. Start a new initiative, change resources for existing initiatives, cancel an existing initiative

C. Distribute marketing surveys for customer feedback, gather internal feedback from the past delivery release, and re-evaluate product attributesD. Run an experiment for the next product launch, set cost/benefit of future initiatives, delay
decision making

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (34)

QUESTION 42 The team determines that user stories can help them effectively create the desired outcomes because a well
written user story:

Invokes conversation among the team

Is detailed and ready for build activities
Eliminates the need for further conversation
Captures all details about customer needs

OO w»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.aqilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (111)

QUESTION 43
During a delivery team meeting, some members of the team are confused about the “time” dimension depicted on a story map. After some discussion they conclude it describes:

User story implementation order
The project timeline

Sequence of activities a user follows
Time to complete stories

oo Wy

Correct Answer: D
Section: (hone)
Explanation

Explanation/Reference:

QUESTION 44 The standard format for documenting Behavioural Driven Development scenarios helps to
maintain focus on:

A. Verifiable conditions, events, and actions

B. The user need and expected value.

C. Alignment of iterations with known user concerns.
D. The layers of modernist analysis

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (66)

QUESTION 45 The organization has a history of delivering products that often don’t resonate with potential customers. After some discussion, the team decides to address this challenge
by developing:
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Metrics and KPlIs
Personas

Project plan
Customer call center

Cow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (51)

QUESTION 46 The organization’s decision to start a new initiative should
always be based on:

A. Market assumptions
B. Evidence

C. Past initiative goals
D. Staff experience

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (37)

QUESTION 47 A team discussion focuses on six key terms. These six terms have a common meaning and are used to discuss both business analysis and its relationship with common terminology. These terms are
described in the:

Strategic Plan

Business Analysis Core Concept Model
Business Analysis Scope Model
Stakeholder Map

SReNC b=

Correct Answer: B
Section: (hone)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (18)

QUESTION 48
The team agrees that the agile business analysis principle of “see the whole” aligns with the BACCM core concept of:

Value
Stakeholder
Needs
Context

Ccow>

Correct Answer: D

Section: (none)

Explanation

Explanation/Reference:

Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (23)

QUESTION 49
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When recommending solution options at the Initiative Horizon, the team decides that their goal is to provide decision makers with:

The exact cost and timeframe options will take to complete

Just enough information to make an informed and accurate decision
The list of stakeholders that are allowed to have input

Everything known about the resource team doing the delivery

oCow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (25)

QUESTION 50 Strategic decision makers are considering large amounts of complex information covering many different areas. To reduce the information to a manageable level of complexity, they decide to use
the following:

A. Reduction

B. MoSCoW approach
C. Models

D. Filtering

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (35)

QUESTION 51

The product owner has found the overall goals of an initiative need to change and discusses the revisions with the team. The estimate of the revised work is greater than the original, which will likely cause the team to miss the fixed release
date. The team works actively together to understand the new information about what is valuable and what is not, and find ways to eliminate work that does not directly relate to the newly expressed value. The team is demonstrating which
agile value?

Contract negotiation

Customer collaboration
Comprehensive documentation
Processes and tools

oo Wy

Correct Answer: D
Section: (hone)
Explanation

Explanation/Reference:

QUESTION 52
The team will be performing its first review and trying to determine what should be demonstrated. After a lengthy discussion they decide to demonstrate:

Their response to critical customer feedback
Key lines of code that describe the solution
Slides of screens to be developed

. An increment of the working solution
Correct Answer: D

Section: (none)
Explanation

o0
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Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (97)

QUESTION 53
The team is making important decisions when assessing the initiative they are working on. Feedback received from the Delivery Horizon informs:

Priority and sequencing of solution components
Identification of reporting requirements

Suggestions for team process continuous improvement
How to build the required solution components

Cow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 54 The team realizes it is important that solution
components are analyzed:

In great detail so as much information as possible is available for subsequent work
To provide answers to any potential questions from senior management

So enough information is available to meet all stakeholder needs

To a level of precision that is just enough to make an informed next decision

o0 wp

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (44)

QUESTION 55
All team members participate at a review of their delivery process for the past 2 weeks. They consider issues, both pro and con, that influenced how much the team got done, as well as what they can do to make that better. This meeting is an
example of the principle:

Understand what is doable

Iteration and progression

Avoid Waste

Stimulate collaboration and continuous improvement

OO0 W

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (20)

QUESTION 56
When the product owner determines there has been enough value delivered on the initiative to satisfy the need, then the sponsor’s immediate next step is to:

Cancel future work on the initiative to avoid waste

Start work on the list of enhancements to improve the delivered product
Hold individual interviews to collect feedback

Dive deeper into the next delivery cycle’s stories

Ccow>»
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Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 57 A team member has written a full user guide about a feature that has not yet been developed. Shortly before delivery is to start, the feature is dropped. What did the team member forget to
value highly?

Following the plan
Detailed processes
Fixed iterations
Working solutions

oCow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (17)

QUESTION 58
The team is discussing one of the six key terms used to discuss both business analysis and its relationship with common terminology. Specifically, they are discussing a specific way of satisfying one or more needs in a context. This team is
discussing the:

Plan
Need
Value
Solution

oo Wy

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (18)

QUESTION 59
During a planning workshop, the team is discussing: “What outcomes are we driving now?” This team is operating at the:

Retrospective event
Testing phase
Initiative horizon
Goals horizon

OO0 W

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (47)

QUESTION 60
The team is assessing feedback from the work that’'s been completed. After some discussion they realize this feedback can be used to assess the remaining components that are yet to be built. Specifically, this feedback can be used to help
them determine if the initiative’s remaining solution components are:

A. Impacting other initiatives
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B. Supported by management
C. Likely to be completed
D. Still appropriate

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (47)

QUESTION 61 Agile business analysis focuses on producing something, showing it to stakeholders, and eliciting immediate feedback. This demonstrates the following characteristic of working in
an agile context:

A. Systems approach
B. Focused nature
C. Empirical nature
D. Planned approach

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 62
Wanting to ensure the delivery team is working as productively as possible, they decide backlog items, including user stories, should be:

Fully detailed before they get prioritized

Refined and elaborated by the Tech Lead

Refined and elaborated throughout the planning horizons
Fully detailed as they enter the backlog

oowp»

Correct Answer: C
Section: (hone)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (12)

QUESTION 63
Backlog items that are dependent on other backlog items compromise and limit rapid decision making, fast delivery and strategic alignment by not leveraging:

Feedback loops

Daily standups
Retrospectives

Thinking like a customer

Cow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 64 The delivery team is discussing how to achieve the strategic goals for their work. They determine the following analysis technique is important to help the team
maintain its focus:
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Relative estimation
Spikes

Story elaboration
Visioning
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Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 65 The delivery team discusses how to maintain the integrity of their backlog items.
They decide to?

Delay changes until they are caught up
Develop a business case for all changes
Monitor stories and features for staleness
Ensure all changes are approved

OO w»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.aqilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (138)

QUESTION 66 While working at the Strategy Horizon, one of the key decisions to
make upfront is:

A. Is a need worth satisfying?

B. What features should we deliver?
C. Have we delivered enough value?
D. Should we cancel the work?

Correct Answer: A
Section: (nhone)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (27)

QUESTION 67
During a project to improve efficiency at a customer service center, the product owner has established that a 15% improvement from the start on each of a specific set of 5 measures is the target for a particular initiative. They meet this goal
and move on to a new initiative. Having a metric and a target helped them do what activity?

A. Analyze to determine what is valuable
B. Assess stakeholder compliance

C. Determine if the need is satisfied

D. Prioritize the next initiative

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 68 The team is delivering a high priority solution component and is discovering new information about the need and how well the work being delivered satisfies it. They conclude that learnings from this component
will be used to:

Refine the components
Explain the components
Implement the components
Descope the components

OO0 w2>

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 69

The team is open to receiving feedback on the product it’s creating and the processes it uses to create those products. Furthermore, they’re using this feedback to improve every aspect of the work. This shows the team has embraced the
concept of:

A. Acting on changes while working on the solution
B. Listening to customers at predefined intervals
C. Documenting customer driven feedback

D. Uncovering better ways of delivering solutions

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 70 The following type of learning and feedback could result in identifying new items
for the backlog:

Velocity metrics and retrospective results
Flow metrics and testing results

Burndown chart and management feedback
Impact metrics and stakeholder feedback

OO

Correct Answer: A
Section: (hone)
Explanation

Explanation/Reference:

QUESTION 71 When teams use relative estimating, an important outcome of
this technique is:

Clarity from discussing discrepancies in estimating to uncover assumptions
Consensus with the tech lead on accurate estimates

Eliminating outliers and adopting the most common estimate

. Increased velocity by agreeing on higher estimate values

Correct Answer: A

Section: (none)
Explanation

o0
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Explanation/Reference:

QUESTION 72
The following can be described as a critical differentiator for work in an agile context related to backlog refinement:

Stakeholder feedback
Management approval
Using user stories
Team feedback

oCow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (64)

QUESTION 73 The Product Owner reviews the value of the solution being created to gain an understanding of the context, the solution, and the stakeholders. Which principle of agile business analysis is the Product Owner
demonstrating?

Understand the Waste

Plan Backlog Priority

See the Whole
Collaboration over Contracts

o0 wp

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (19)

QUESTION 74
The team is prioritizing stories in the backlog and discussing the elements that result in a well-structured, actionable backlog. They identify the following as a central consideration:

Accessibility of key stakeholders for signoff
Rapid delivery of value

Refining the personas used

How many features are in the backlog

oowp»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (55)

QUESTION 75
A practice common to most agile approaches is to require that the items in the product backlog that are targeted to be delivered next, are:

Loosely prioritized with some having the same priority

Strictly prioritized, and sequenced from smallest to largest work effort
Unprioritized, but with known business value

Strictly prioritized and forced ranked
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Correct Answer: B
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 76
Through ongoing collaboration with stakeholders the team continues to uncover new information. This is leading to changes to the products that are being produced. The team should:

Stop all work until stakeholders can decide what they need

Schedule additional review sessions to speed up stake holder decisions

Accept all changes but delay additional solution development work to minimize rework
Continue as is since the process is working

OO0 w2>

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 77
During a backlog refinement meeting, the team uses the appropriate technique to focus discussion on backlog items and their:

A. Technical designs and related details
B. Related users, user goals, user activities and their importance
C. Estimates determined by the delivery teamD. Resource requirements and availability for work.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 78 While reviewing criteria for a well-written story, the team discusses the
following criteria:

Detailed persona characteristics

Cost-benefit valuation

Alignment to the organization’s vision statement
Achievable unit of development

OO

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (55)

QUESTION 79

The team is discussing the initiative and thinking about what solution increments are worth doing. An appropriate technique for them to use is:
A. Backlog refinement

B. Portfolio kanban

C. Purpose alignment model

D. Story elaboration

Correct Answer: B
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Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (39)

QUESTION 80 While using Kano Analysis to determine what features to include in the MVP, the delivery team decides to include characteristics which if omitted will cause intense dissatisfaction. A team member indicates that these are
referred to as:

A. Performance characteristics
B. Threshold characteristics
C. Minimum characteristics

D. Excitement characteristics

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (74)

QUESTION 81
The team is discussing what analysis performed at the initiative level should include. They realize this analysis will support a number of key decisions, particularly decisions around the:

Needs and the solution that will satisfy those needs
Objectives and strategies to meet those objectives

Problem and the system that will address that problem
Strategy and identifying actions that will address that strategy

oowp

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 82
Good analysis practices at the Strategy Horizon facilitate the transfer of relevant knowledge between teams to:

Better understand what features will be delivered
Cancel initiatives that no longer provide value
Stimulate collaboration and continuous improvement.
Prioritize and sequence features for delivery

oowp»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (38)

QUESTION 83
The team is considering which of several solution paths they should invest in. They are working only from conjecture and opinion, not data and facts. A practitioner with an agile mindset would remind them to:

A. Perform a value analysis of real options
B. Discover what works by trying things out
C. Consider analysis at multiple horizons
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D. Collaborate more to create new ideas

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (24)

QUESTION 84
The team is struggling with how to best design and explore options for moving forward. They settle on a time-boxed research approach which is often referred to as a:

Simulation
Wasteful
Spike
Incremental
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (99)

QUESTION 85 At the Initiative Horizon, we see the concept of adaptive planning expressed when a
solution owner:

Ensures technical documentation is updated in response to changes

Seeks guidance and direction from senior stakeholders for remaining work

Uses feedback to make decisions about remaining solution components or initiatives
Meets with stakeholders to gather feedback about delivered solution components

ooy

Correct Answer: C
Section: (hone)
Explanation

Explanation/Reference:
Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-Member-Copy.pdf (29)
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